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ADVANCE WORKSHOP TECHNIQUES

Fruifa g . =R [SATtreRan 37 : 70
Time allowed : Three Hours] [Maximum Marks : 70

P () gYH I A E, 99 F @ el R IR G |

Note : Question No. 1 is compulsory, answer any FOUR questions from the remaining.

(i) I 5 F G 97T H HHAR TF G & Ffrd |
Solve all parts of a question consecutively together.
(iii) 5% 599 1 73 Y8 & IREY Fiford |
Start each question on fresh page.

(iv) @1 s 7 3R B @1 1Rfa d s sgare & 8 |
Only English version is valid in case of difference in both the languages.

1. (1) Preaddelaugsat TOTER ?

(a) ezl (b) TP E
(c) Busdl @) dsal
Which of the following is not a metal cutting saw ?
(a) Power hacksaw (b) Circular saw
(c) Hand saw (d) Bandsaw
2) FEddenH b Ra R R i @ dd g ¢
(@) e (b) @
(c) fam (d) @
Which of the following operation is used to enlarge the previously drilled hole ?
(a) Reaming (b) Boring
(c) Tapping (d) Honing
() afwafnmafafHsadaai
(a) T-AiE (b) HEE
(c) C-x=AicE d) V=i
The table of a horizontal boring machine is provided with :
(a) T-Slots (b) H-Slots
(¢) C-Slots (d) V-Slots

(10f 8) P.T.O.
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ST u3fta 6 Taa amrId: AR G R

(a) HEW (b) HSAW

(c) RS®HW (d) HeH®

The table of boring machine is usually mounted on the

(a) Carriage (b) Saddle

(¢) Headstock (d) Column

firfer mrefi =1 A 1 @A 2 3 SR F= W1 R

(a) JATURT (b) I W

(c) TAW (d) TsEAW

Knee of milling machine is attached and slides up and down on :
(a) Base (b) Column

(c) Table (d) Saddle

ferfeim mefiw a1 form Rl AR AT B

(a) 3R (b) HiaH

) (d

The following part of the milling machine supports the work piece :
(a) Base (b) Column

(c) Knee (d) Table

frfein shet T ST 2

(a) 2WAW (b) 3R 3T W

(c) JIRW d) feasfEmgsw
Milling cutter is mounted on

(a) Table (b) Over Arm

(¢) Arbor (d) Dividing Head
et § @ @l e wefiq o w2 2

(a) T (b) &

(c) Tersa d

Which of the following is not a part of the Milling Machine ?
(a) Turret (b) Table

(¢) Spindle (d) Knee

FITET H F 7o Bl hed 8

(a) 2fEm (b) @fTH

(c) TS T (d) I H H B TE
Boring is done with the help of a tool known as

(a) Taping (b) Boring cutter

(¢) Twistdrill (d) None of the above
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(10) B 3 @ P a7 RRiT YEH <) G 3¢ Tagl B T Er e e & W H

TAE ?
(a) QA fufem (b) 7 fufem
(c) ity fafem (d) wea fufem

Which of the following milling process is used for machining of two parallel vertical
surface of a job simultaneously ? “

(a) Key way milling (b) Groove milling
(¢) Angular milling (d) Straddle milling
(1) Fre= 3 & ot & ol § frfeim et et % vor ) fadia fean o quan 2 2
(a) e fafem (b) 319 fufem
(c) =3 fufem d) 3@ BE

In which of the following milling method cutters rotate in direction opposite to that
in which work is fed ?

(a) Climb milling (b) Up milling
(¢) Down milling (d) None of the mentioned
(12) foreht feam & 2oa 2w fire # firedt o <Y 7§ gt e @
(a) o wfa fme (b) o wfa gl
() ¥ ¥id = (d) Ioirs aft
Distance moved by table in mm in one minute in any direction is known as
(a) Feed per minute (b) Feed per tooth
(c) Feed per revolution (d) All of the above
(13) u@ﬁnw&iaﬁiﬁmaﬂﬁ%mmmﬁ WeR Tt % B B HEd &
(a) ST (b) TS
(c) sfm )
Removing dull grains in order to make grinding wheel sharp is known as :
(a) Loading (b) Glazing
(¢c) Dressing (d) Trueing
(14) mﬁm%ﬁﬁmﬁﬁ%ﬁﬁgﬁﬁnﬁéﬁmmuﬁhm% ?
(@ S b V
() R (d B

Which of the following represents the correct symbol of Silicate bond in a
specification of grinding wheel ?

(@ S (b V

(¢) R (d B

P.T.O.
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(15) R a6 ot st 1 vl w0 & o sEh 1w F Ay FHG @ I

(a) ST (b) AT
© sfm d "

Operation done to make periphery of grinding wheel concentric with its axis to
recover its lost shape is known as :

(a) Loading (b) Glazing
(¢) Dressing (d) Trueing

(16) Tg Hwt & fore fmr # & w17 w1 wsfén e e wean v ?

(@) g et e (b) R uEfE =i

() w8 it gg A wERn e (d) o & M

Which of the following grinding wheel would be more economical for grinding of
soft work piece ?

(a) Soft grinding wheel

(b) Hard grinding wheel

(c) Both hard and soft grinding wheel

(d) None of the mentioned

(17) =1 5 9 SF |1 3 61 THFL R 7

(18)

(19)

(a) Sfefaea amam (b) SIS T

(c) Fram= e (d) 3w At

Which of the following is the type of maintenance ?

(a) Predictive maintenance (b) Breakdown maintenance
(c) Preventive maintenance (d) All of above

e 7 @ ol TS oo e B i ewia @ 7

(a) IR (b) O

(c) dis (d) s

Which of the following is not shown in Grinding wheel specifications ?
(a) Structure (b) Feed

(c) Bond (d) Grade

HTq, 3TN 317 9Tl 9 Foh e I TR it o fore sredss ufed @ft 58 wefia
T HEATd! 8

(a) fufem mfim (b) @

(c) WX (d) WS

Machine tool equipped with an abrasive wheel used for producing finishing or
making light cuts on metals and other materials is :

(a) Milling Machine (b) Planner
(¢) Shaper (d) Grinder
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(20) Fgea Y § e Ifud a1 @

(a) Gsaw Rawe e B TAEE 41 H
(b) 3MER T fgge areft 45 |

(c) “HUEE TR T

d) FHTIRW

In a capstan lathe, turret is mounted on

(@) A short slide or ram sliding on the saddle
(b) The saddle sliding on the bed

(¢) Compound rest
(d) Back tool post

Q1) iR Tm A AU HF M AAR ?

(a) 2T (b) &=

(c) BsH® (d) 2R®
Which of the following is not the part of Turret Lathe ?
(a) Turret (b) Saddle

(¢) Headstock (d) Tailstock

(22) Fre # & @ w1 e gt et 2 i s o ae e A I 27

@) UmEdatemg@dest  (b) IS I B

) Hzadiet d) -z et

Which of the following turret tool holder is useful for simultaneous turning and boring ?
(a) Roller steady box tool holder

(b) Slide tool holder

(c) Kanee tool holder

(d) V-steady tool holder

(23) B 1w gt e e 29 dest s ot Sl 2

(24)

(a) =t el FeA | (b) el afeai wRA |
(c) 9 e (a) 3 (b) EHT (d) 39U o E HIS T8

Tap holder is a tool holding device of turret lathe used for :
(a) Cutting internet threads (b) Cutting external threads

(c) Above option (a) & (b) both (d) None of the above
warad

i gEm A S AT & :
(a) oW TG =4 (b)) S EEdHEEA
(c) qaaﬁuﬁmm%msqg?ﬁ(d) 39T Tt

The advantages of using automatic machines are
(a) Saving in labour cost (b) Saving in floor space
(c) Suitable for mass production (d) ~All of the above

(25) o 3 & o 1 v weie b e H A o 8 7

(a) WsHE (b) eI TR

(c) HmH= (d) wm

Which of the following material is not used in machine foundation ?
(a) Rubber sheet (b) Brick & Stone

(¢) Cement (d) Wax

P.T.O.
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(26) TR ¥t =oig 1 e Bal &

(a) fifeam svmeEq @@ (b) Fg ¥
(c) = =T 39T (d) eoal el
Material of the power hacksaw blade is
(@) Medium carbon steel (b) Mild steel
(c) High speed steel (d) CastIron
27) T 1 @ = @ fafedm whn S A 3w @ $8 F W FhH g€ guad gag Bl
aefifrsA s Fm A a2 ?
(a) TS fifer (b) g fafem
(c) Uer fafem (d) i fafe

(28)

(29)

Which of the following milling operation can be used for machining of flat surface
which is inclined at some angle to the axis of cutter ?

(a) Slab milling (b) Face milling
(¢) Angular milling (d) Form milling
= 3 o a1 gag sy 2 7

(a) fgferm | (b)

(c) Tafem (d) <

Which of the following is a surface finishing operation ?
(a) Drilling (b) Lapping

(¢) Milling (d) Turning

wefi e 3 WHE IR Y et fRufy § e v ¥ frw o nfafafeat
FrEfa i St € 3w 2, wrard

(a) & (b) AT

(c) IedteA (d) GIH

To keep the machine plants & process equipments in good condition, the activities
are planned & carried out is known as :

(a) Maintenance (b) Installation
(c¢) Production (d) Assembly
(30) ZrEw wE affha Y wrelt &
(a) 3A-°T3A g (b) Tt sefaam Sae asfiA
() AW (d) 3uU o
Transfer Machines are classified as :
(a) In-line Machine (b) Rotary indexing table machine

(¢) Drum machine (d) All of the above (1x30)
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2.

()

(i)

(iii)

(iv)

)

(i)

(i)

()

(i)

(ii)

rEfé wfea # wifem i e Fn g @ 2

What is glazing and loading of the grinding wheel ?

Pz A it i AT 7ot T 6 Al 3 A R |

Write name of any four tool holding devices of the turret lathe.
Frerafess wfit o1 et Hifer |

Clasé.ify the automatic machines.

St it afhn § @0 =R R ?

What is the difference between lapping and buffing ?

wfii <t e st s fafee |

Write sequence of operations of the maintenance of machines.

fo Y gEmaT & ade 3 H1 qUH HIT |
Describe the circular saw with the help of a diagram.
AU S 3R YU ¥8 % 3990 FHHATST |

Explain the uses of boring bar and boring head.

1 st et o forr < wgman & A Ao |
Describe the jig boring machine with the help of a diagram.
fiafe wefiat w1 affertor SHifsa |

Classify the milling machines

forr ST 379 Tt 3 gre fafei # S7at 1 wmems |

Explain the difference between upmilling and downmilling with diagrams.

firfe mefia 61 %1 T o JReAT B TEHET |

Explain the work holding devices of milling machine

Afora fieet Fag Mest i o T FHIATRT |
Explain the horizontal spindle surface grinder with a diagram.
TR i i fire, s AR FFR Jaaal % a1’ H 9HeEl |

Explﬁin the grinding wheel elements grit, grade and structure.

Srerea 3R 2 S 3 T AW I GE # o HIFT |
Explain the principal parts of the capstan and turret lathe.
Frgea 3R de Ay H < FHIRT |

Explain the difference between capstan and turret lathe.

1045

(2%5)

(6+4)

(6+4)

(6+4)

(6+4)

(5+5)

P.T.O.
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8. (i)
(i1)
9. (i)
(i1)

gt Wit ot feogoft ferfaa |
Write a note on the transfer machines.
TSR s s T T A AR ?

What is the purpose of honning and how is it done ?

Framor #2949 =t gussT |

Explain preventive maintenance.

Tsfa el &) 989 § g9wse |

Explain the machine foundation in brief.

1045

(5+5)

(5+5)



